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Prove that A = {2,3,4,5} is not a subset of B = {x:x is even}.
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If AcB and Bc(C then AcC(.
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Prove: If A is a subset of the null set (», then A=0.
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Find the power set P(S) of the set § = {1,2, 3}.
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Let U= {1,2,...,89), A = {1,2,3,4}, B= {2,4,6,8) and C = {3,4,5,6).

Find: (i) Ac, (i) (A N C), (iii) BN C, (iv) (AUB)-.
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Prove De Morgan's Law: (AUB) = A°nN B-.
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Let A= {a,b}, B={2,3} and C = {3,4}. Find: (i) A x (BUC),
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Consider the relation R = {(1,1), (2,3), 3,2y in X = {1,2,3}. Determine whether

or not R is (i) reflexive, (ii) symmetric, (iii) transitive.



